Warnup - oH + pOH

-D@"/’ej;mmt PH

Lo(H) = [e-3
2.0 = e - H
3 [H" ] = 1e-1
4. [H*] = Je - 10

Determine ?OH

g (oH Y=le-&
b LOH']: le =2
7. (oH 1 = le-12

Determine PH

7. [OH7) < le-13
q. [oH 1= le-])
j0. (oH-1= | x Jp¢
N, (W) = o

Determine FOH |
2. (1= 1e-5
13. CoHl™ 1= le -1
(. CH*Y = [e ~1Y
5. T )= le-F

Nope




Deaterming (W)
o, vFH: 3
| F. FH = 1)
Vg PH: +

Defermine [OH ™)
20, FOH: [+
1. POH: 4

Detesmine (H']
22.. FOH: i3
23 VOH )
4. f)Hr b

25, ,oOHf 9

Detesrmine (OH™)
2b. f>H - Y
21 POH: L
29. pH= PN

24. \n o so'v\'\‘}on‘
30. {n a solelon, CoMJz te-7, whal v (HIY

3. The pH of 2 gpldon 5 L. Whot 3¢ its foOWf
Y Tie fOH of & solwtion Vs 17, what s T+S ’0“7
33. A 4olw‘l"70n hes  a IOH = 1s 5t ac;uh(. ol L?C—f"“?
M. A sohdion hioa FOH:Z- Is 71 acidie or besic?
35. What ¢ an ‘mAica*o(?

(HJ=le -H . Wkt s Cov-17¢

3b. s en wcid 4 ﬂw’o‘fm (H*) Dorer oC a P(oﬁ}@q m*) ALL{F%(‘

7



